
Spieler 1

Volle Abräumen Gesamt S K Fehlwurf

Bahn 1 87 + 26 = 113 1 1 5

Bahn 2 84 + 41 = 125 2 3

Gesamt 171 + 67 = 238 3 1 8

Spieler 2

Volle Abräumen Gesamt S K Fehlwurf

Bahn 1 82 + 45 = 127 2 1 2

Bahn 2 76 + 34 = 110 2

Gesamt 158 + 79 = 237 2 1 4

Spieler 3

Volle Abräumen Gesamt S K Fehlwurf

Bahn 1 76 + 32 = 108

Bahn 2 80 + 17 = 97 1 5

Gesamt 156 + 49 = 205 1 5

Spieler 4

Volle Abräumen Gesamt S K Fehlwurf

Bahn 1 82 + 23 = 105 4

Bahn 2 78 + 35 = 113 1 1 4

Gesamt 160 + 58 = 218 1 1 8

RICHTER Karl

RAMMLER Willibald

LUFTENBERG 1

898

KREINDL Johann

HAIDER Rudolf


